Week 12, Day 2

Choose appropriate methods to subtract 4-digit numbers
Each day covers one maths topic. It should take you about 1 hour or just a little more.

1. Start by reading through the Learning Reminders. oo
They come from our PowerPoint slides. e
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2. Tackle the questions on the Practice Sheet.
There might be a choice of either Mild (easier) or
Hot (harder)!
Check the answers.
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3. Finding it tricky? That’s OK... have a go with a
grown-up at A Bit Stuck?
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4. Think you’ve cracked it? Whizzed through the Practice Sheets?
Have a go at the Investigation...
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Learning Reminders

Choose appropriate methods to subtract 4-digit numbers.

We can use either expanded or
column subtraction to find

8848 - 453.
700 140 7 14
8000 800 40 8 8 &
. 400 50 3 - 45
8000 300 90 5 8 39
8000+300+90+5=8395.7

We need to take care to line
up the 100s, 10s and 1s as
there are no 1000s to
subtract.
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Learning Reminders

Choose appropriate methods to subtract 4-digit numbers.

Column subtraction gets very
tricky if there are lots of zeros
in the larger number. Look at
all of the column exchanges!

3000 - 2674

Frog can solve 3000 - 2674>
in just 2 jumps!

‘Much
easier!’
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Practice Sheet Mild
Frog or column subtraction?

Choose to use either Frog [counting up) or column subtraction to solve the following, aiming to use the
more efficient method for each.

4002 - 3856
9357 - 264

7200 - 6934
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8015 -7943

8734 - 562

4721 - 438

® ¥ @€ V H o & ¥ & V H o & ¥ & VvV =E o

® ¥ @ V =H o

6023 - 5794

7475 - 621

® VvV 1m o
® VvV H o
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Practice Sheet Hot
Frog or column subtraction?

Choose to use either Frog (counting up) or column subtraction to solve the following, aiming to use the

more efficient method for each.
1. 9124 - 8967

5235 - 4879
6383 -526

8342 -578
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8250 - 6789

6135 - 456

6058 - 5345

® ¥ @€ V H o & ¥ & V H o & ¥ & VvV =E o

® ¥ @ V =H o

8. 5224 - 461

Do you think you chose the more efficient strategy for each subtraction? You could repeat any
you're not sure about, using the other method...

® VvV 1m o
® VvV H o
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Practice Sheets Answers

Frog or column subtraction? (mild)

® H A & «*

4002 - 3856 = 146
9357 - 264 = 9093
7200 - 6934 = 266
8015-7943 =72

8734 -562=8712
4721 - 438 = 4283
6023 - 5794 = 229
7475 - 621 = 6854
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Frog or column subtraction? (hot)

9124 - 8967 = 157
5235 - 4879 = 356
6383 - 526 = 5857
8342 -578=7764
8250 - 6789 = 1461
6135 - 456 =5679
6058 -5345=713
5224 - 461 =4763
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' " Frog's epic jumps o |

Work in pairs
Things you will need:

What to do: « A pencil

Use Frog on the number lines to work out the answers to
the subtractions. BUT, before you do, discuss which you
think will have the biggest answer and which you think will
have the smallest answer. Why do you think that?

602 - 494

623 - 497

631-492
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605 - 488

A Bit Stuck?
Frog's epic jumps

603 - 476

614 - 485

S-t-r-e-t-c-h:
Choose two subtractions to check
using addition.
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Learning outcomes:

+ | can use counting up (Frog) to subtract 3-digit numbers either side of a gap of 100.
« | am beginning to use addition to check subtraction.
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x Investigation
NE Subtraction trios »
N x
Choose to use either Frog (counting up) or column subtraction to solve each o
calculation, aiming to use the more efficient method for each. 5:.,
W =
1. Find the answers to: e ;
1234 - 567, ~ ‘ A
* 2345 - 678 and _
= 3456 - 789. & 12 14 w
. What do you notice about your answers? =
£ | 134
Q
2 Now try 4321 - 765, ~|-56
x 5432 - 876 and t267 v
6543 - 987. & | 3
\ What happens this time? ~ N
| x
* 3. Try other similar subtractions with ~ -
consecutive digits where each digit is only 2345 o®
- used once within the calculation, m 6
- eg. 4321 - 567, SR 077 N
5432 - 678 and ® ) :
£ 6543 - 789 and then, e
o @
1234 - 765, !
| 2345 - 876 and — |
3456 - 987. 2
=N 3
. Can you predict the answers to the third subtraction in each trio? =
& Why do you think the last three digits are as they are in each trio of subtractions? x
What happens to digits in each subtraction as you move from one subtraction to P
x the next?
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g Can you create your own subtraction trio where the last three digits are the 3
. same in each case? "
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